SOL 5 Practice Worksheet

1.
Factor 
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2.
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 is an example of which type of special product?


A.
difference of two cubes


B.
perfect square trinomial


C.
difference of two squares


D.
sum of two cubes

3.
In order to factor x6 – y6, it is best to use which method first?


A.
difference of two cubes


B.
difference of two squares


C.
perfect square trinomial


D.
greatest common factor

4.
Supply the missing term to form the given perfect square trinomial for 

x2 + 16x + [?].

A.
64; (x + 16)2
B.
64; (x + 8)2
C.
8; (x + 4)2
D.
8; (x + 8)2
5.
Which polynomial cannot be factored over the set of real numbers?
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6.
Factor completely: 1 – 64b4
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7.
Factor completely over the set of real integers:  2x3 – 18x


A.
(2x – 9)(x – 2)


B.
(x – 3)(x + 3)

C.
2x(x – 9)


D.
2x(x – 3)(x + 3)

8.
To make x2 + [?] + 16 a perfect square trinomial, what must [?] be?


A.
x


B.
2x


C.
4x


D.
8x

9.
Factor 2t2 + t – 6 completely


A.
(2t – 6)(t + 1)


B.
(2t + 6)(t – 1)


C.
(2t + 3)(t – 2)

D.
(2t – 3)(t + 2)

10.
Factor (a + 1)2 – 3(a + 1) – 18


A.
(a + 3)(a – 6)


B.
(a – 5)(a + 4)


C.
(a – 3)(a + 6)

D.
(a + 5)(a – 4)
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